(8002) 39840 ssa.dAD wo.y sejdwes qeib D31 Woij aJe SSaup.Iey 10 pasn Sanjea
‘panusp ssaupiey aie suojenbe 8y £0-€-¥-00Z ) 8InJ DIJL Ul usalb suoizenbs uo paseq aJe sanjea paindwo) (7}
D00 Jo spasaxa sejeaipul anjea payybiybiH (‘e
TOW Spesoxa sejeaipul enjea pjog (p
(OWD) uonesuesuod winwixew uousdLod pandwo) (-0
UoNBJUBIUOI SNONUUOI UoLB}LID paindwio) (-q

(DDD) uole.UBILOD SNONURUOD UOLIBYID (B S8JoN

€900°0 €¢¢s #5000 12SY ¢S00°0 PASI 4 »3100°0 00500 10 ENS
68€0°0 G8ECE 2€€0°0 89082 G2€00 1,0, S00°0 00L€0 S0°0 wnjusjes
€0000 602 20000 181 ¢0000 Gl 80000 02000 2000 Ainosaw
90000 €€g 90000 414 S000°0 41747 q8100°0 1G00°0 S10°0 pesg|
€000 6509 €900°0 1GCS 1900°0 S90S q£850°0 08500 10 wnjwoayo
£000°0 909 9000°0 GZs 9000°0 105 q¢000°0 85000 S00°0 wnjwped
818€°0 08S.1€ 60€€°0 G¥¢S.C ¢61€0 005592 - 70'¢€ [4 wnieq
2¢s€0°0 1G¢6¢C S0€0°0 2s€ese ¥620°0 1214 ¢4 SL°0 820 10’0 ojuss.ie
(1/6w) (Aep/Bw) (1/6w) (Aep/Bw) (1/6w) (Kep/6w) [(/6w) (1/6w) (1/Bw) Jejoweled
uonesussuo) Buipeo | uonesusouon | Buipeor uonenuasuo) | Buipeoq | pwi Apoixoy | uonenussuo) TN 209
weas-u| ssep weans-u| ssep weau)s-u| ssep anenby ajeyoea]
asen-}SIoM
S§0 £40°0 = 9)ey Ajeyoea S§0 /€0°0 = 9)ey djeyoea | s§0 9¢0°0 = ey 9jeyoea
| 8Seyd U0 I19A0) |10S | 8Skeyd U0 19A0) [10S | 8Skyd UO 19A09 |10S
0l Jeap 9 Jea € JeoA
Bupjoe)g || aseyd :9 ased Bupjoe)g || aseyd :G ased Bunjoe)g || aseyd : ase)
(z pue | saseyd) sjeAlaju] Bupjoelg Ysy Jeap-0L pue -9 ‘- 1o} jaai)
ssaldA9 10} suoIRIJUSIUOD UIBDUOD JO JUBUIWERIUOY WEdI}S-Ul PajoIpald — dAIJRUId)|Y Uol)oy pasodold  “L-3 9|qelL

S11NS3Y T3A0IN FINVINHOL¥3d TT4ANVT 40 NOLLVNTIVAZ JI90TOUAAH NIYTLNI — 3 XIANIddV




(8002) yo9.19 Ssaidf9 wouy sejdwes qesb D31 wWoly ale SSaupJey Joj pasn Sanjea
‘peALIsp ssaupiey aie suoienba 8y €0 -€-#-00Z L 8lnd D31 ul usnib suonenbs uo paseq aie sanjea paindwo) (f

099 JO Spavaxa sajealpur anjea payybiybiH (o

TN SPaaoxe sajealpul anjea pjog (-p

(DWD) uonesusouod wnwixew uoLd}Io payndwo) (-o
UoljeJUBIU0I SNONUIUO0I Uolsd}lId pandwo) (-q
(0D9D) uonesnusduos snonuuod uoLsBIL) (e :SBJ0N

21000 86 82000 9622 2€00°0 1692 ,8100°0 0050°0 10 Jon|IS
€000 9019 12100 gezvl 1020°0 98991 5000 00L€°0 S0°0 wnius|es
00000 6¢ 10000 6 10000 80} 80000 02000 200°0 Ainassui
10000 001 €000°0 ez €000°0 Gl 481000 1500°0 5100 pes)
#1000 vl 2€00°0 €992 8€00°0 zele /8500 08500 1’0 wniwoJyo
10000 vLl €000°0 99z ¥000°0 zle 420000 85000 5000 wniwpes
02200 08865 8/91°0 G6S6E L 19610 129€91 - v0'E Z wnieq
99000 GGG 56100 15821 1810°0 120G} 510 82'0 100 ojussle
(/6w) (Kep/Buw) (1/6w) (Kep/Buw) (/6w) (Aep/Bui) ,(1/Bw) (1/6w) (/6w) | s9yoweled
uopesuasuoy | Buipeoqssely | uonenussuo) | Buipeo ssep | uonenusouo) | Buipeo sse | ywiq Ayoixo) | UonesUBIUCYH TON 209
wealts-uj weals-uj weaus-uj aijenby ajeyoea]
9se)-1SIOM
SJ9 800°0 = 9JeY 9jeydea] SJ9 610°0 = 93eY 9jeydea] SJ9 220°0 = 9)eY 9jeyoeaT
Jaun Jaun Jaun
T 11 9seyd “19A0D TN | 9seyd | 109 Il 9seyd 4aA0D TN | aseuyd | 199 Il aseyd 4aA09 1I9 | aseyd
0L Jed A 0l Jed )\ 0l Jea )\
Bunjoelg || aseyd :gi ased Bunjoelg || aseyd :L| ased Bunjoelg || aseyd :0} ased
(z pue | saseyd) suoijeuiquiod Jaul] pue JIaA0) SnoLIeA 10j Bunjoe)s ysy Jo Jea) Yyjua] ayj Jo}
9949 ssaidAD 10} SUOIJEIUBIUOD UIBIUOY) JO JUBUIWERIUOY WEdI}S-Ul PajdIpald - dAI}eUId)|Y uoljoy pasodoud 'Z-3 9|qel





